Summation 3

20 January 2024 10:39

Aw:
$$\sum_{k \geq 0} \binom{1000}{3k} = \sum_{k \geq 0} \binom{1000}{k} f(k)$$
where $f(k) = \begin{cases} 1 & \text{if } k = 0 \text{ (wold 3)} \end{cases}$

$$\chi^{3} = 1 \longrightarrow \omega^{3} = 1, \omega^{4} = \omega, \omega^{5} = \omega^{2}$$

$$\Rightarrow 1, \omega, \omega^{2} = \frac{1}{3}\pi i$$

$$\omega = e^{\frac{1}{3}}\pi i$$

$$f(\kappa) = \frac{3}{3} \left(\frac{1}{1} + \omega_{\kappa} + \omega_{3k} \right)$$

$$=\frac{3}{5}\sum_{k,l,0}^{k,l,0}\sum_{k,l,0}^{l,l,0}\binom{k}{l}$$

$$=\frac{3}{3}\sum_{1000}^{1000}k)+\frac{3}{3}\sum_{1000}^{1000}\binom{1}{1000}mk+\frac{3}{3}\sum_{1000}^{1000}\binom{1}{1000}mk$$

$$= \frac{1}{3} \left[2^{(000)} + (-\omega^2)^{(000)} + (-\omega)^{(000)} \right]$$

$$= \frac{1}{3} \left[2^{(000)} + (-\omega^2)^{(000)} + (-\omega)^{(000)} \right]$$

$$=\frac{3}{1}\left[\begin{array}{c} \frac{3}{1}\left[\begin{array}{c} \frac{3}{1}\left[c} \\ \frac{3}{1}\left[c} \\ \frac{3}{1}\left[c} \\ \frac{3}{1}\left[c} \\ \frac{3}{1}\right[c} \\ \frac{3}{1}c} \\ \end{array} \right] \end{array} \right] \right] \right]} \right]} \right]} \right]} \right]$$

Surmation modulo prime! -

KLP, P is prime > Smallest N EN such trat KN = O (mod p) & P

KLP, P is prime => Smallest N EN such that KN = O (mod p) is P

Let P=7, 1c=3. | L=3,2k=6,3k=2,4k=5,5k=1,6k=4,7k=0 {0, 1, 2, 3, 4, 5, 6} all numbers are visited

Fermal's Little Theorem:

Let p be a prime, then, $a^{p+1} \equiv 1 \pmod{p}$ whenever g(d(a,p)=1)

Proof: A good and rigourous proof can be found using Group Theory. $\int_{\Gamma_{k}} \left(\omega^{d} P \right) \left| - \alpha^{P} \right| = \left((\alpha - 1)^{P} + 1^{P} \right) = \left((\alpha - 2)^{P} + 1^{P} + 1^{P} \right) = \left((\alpha - 2)^{P} + 1^{P} + 1^{P} \right) = \left((\alpha - 2)^{P} + 1^{P} + 1^{P} \right) = \left((\alpha - 2)^{P} + 1^{P} + 1^{P} \right) = \left((\alpha - 2)^{P} + 1^{P} + 1^{P} \right) = \left((\alpha - 2)^{P} + 1^{P} + 1^{P} \right) = \left((\alpha - 2)^{P} + 1$ $\sum_{k=0}^{p} \binom{p}{k} \binom{a-1}{k}^{p-k} = (a-1)^{p} + p \binom{a-1}{1}^{p-1} + p \binom{p-1}{2} \binom{a-1}{2}^{p-2} + \cdots + p \binom{p-1}{1} + p \binom{p-1}{2}$ = O(modp)

 $\equiv ((\alpha-3)+1)^p + 2 \equiv (\alpha-3)^p + 3 = --- \equiv \alpha \pmod{p}$

 $a^p \equiv a \pmod{p}$ $\Rightarrow \alpha^{p-1} = 1 \pmod{p}$

Wilson's Theorem: -

For any prime P, $(P-1)! \equiv -1 \pmod{p}$

7 roof: - HoweWork

•> Let p be a prime and m be on integer. Then $1^{m} + 2^{m} + \cdots + (P-1)^{m} = \begin{cases} 0 \pmod{p} & \text{if } (P-1) \nmid m \\ -1 \pmod{p} & \text{if } (P-1) \mid m \end{cases}$

Solution:
$$(p-1)!! m \Rightarrow m = k(p-1)$$
 $a^{p+1} \equiv 1 \pmod{p}$
 $a^{p+1} \equiv 1 \pmod{p}$

Now if $(p+1)! m$, then

 $a^{p+1} \equiv 1 \pmod{p}$
 $a^{$

Summation Page 3

$$\Rightarrow a^{2} = P_{1}^{x_{1}} P_{2}^{2x_{2}} - P_{n}^{2x_{n}}$$

$$b^{2} = q_{1}^{x_{1}} q_{2}^{x_{2}} - Q_{m}^{x_{n}}$$